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e Bt 44] 21597 | 9,503|[5% HiF 20/ 181.60 | 3,632
=H T 47| 21202 | 9,965|=x =EAI 36| 181.25| 6,525
ESEPN 26] 21084 | 54828/ ET 46| 180.95 | 8,324
E =P 52| 210.26 | 10,934|[lBA HE 41| 180.00 | 7,380
EX & 52| 208.30 | 10,832[|=MA 3hix 65/ 179.23 | 11,650
INI GEE 46| 20797 | 9567t Eth 48| 178.02 | 8,545
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g & 20| 198.90| 3978|7TE EF 22| 17536 | 3,858
=B ¥ 46| 198.21 9,118 L% —= 29| 175.03| 5,076
INFR BERE 31| 198.19 | 6144|548 EE 36/ 175.02 | 6,301
EH BT 28| 197.39| 5527|HA fH{E 37] 173.18| 6,408
EH Z8 53| 196.84 | 10433|ED [E= 31 17167 | 5,322
BiE XE 30/ 196.43| 5893||&XMr 35| 171.48 | 6,002
FL B2 41| 196.29 | 8,048|#nE FA& 28| 17132 | 4,797
FE FF 33] 196.03 | 6469|fHBEERL 27| 17081 | 4612
B = 20| 195.05| 3,901||X;TILIA 20/ 170.20 | 3,404
Big #= 53| 194.86 | 10,328|[4E 2 REF 36] 169.36 | 6,097
=EHITH 46| 19480 | 8961||THE mmZ= 24| 168.95| 4,055
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WEHEH 57| 192.70 | 10,984|EZE &F 53] 167.28 | 8,866
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=1 I 40| 19242 | 7.697|( LA HEAB 45| 166.48 | 7,492
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faft B 20| 191.95| 3,839|%E[ = 33| 165.33| 5,456
TiE RE 54/ 191.81 | 10,358|BHix — 40| 163.67 | 6,547
e N 43| 190.79 | 8,204 F XEEF|kE 24| 16354 | 3,925
I 33 190.18| 6,276[F@ I 23| 16321 | 3,754
FW &0 24| 189.33 | 4544|[FFIF (- 27| 162.96 | 4,400
BA B 26| 188.26 | 4,895|fidt =& 20| 16220 | 3244
BE &X 68| 187.91 | 12,778|[iEMr #& 37| 160.97| 5,956
a5H #Bz 42| 187.69 | 7.883||&)I L 31| 15729 | 4876
RS 24| 186.91 | 4486|EME/NEF 28| 155.75| 4,361
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INFR BT SR 24| 186.41 44748 ERF 23| 15256 | 3,509
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